
 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 



 

LISTA 3 

 

1.  

a)  x’ = 1  , x’’=−
3

2
  , V( −

1

4
 , −

25

4
 )                   b) x’= 1 , x’’=-1 , V(0,

3

2
) 

            

            

            

            

            

            

            

            

            

            

            

            

            

            

            

            

            

  

2.  

 

 

3.   y = x2 +2x -3 

 

4. Quociente: x+9  , Resto : 11x-41 



 

5. (x-3)(x-1)(x+5) 

 

6. x<0 

 

7.  f(x) >0  se x>
5

2
   

     f(x)<0 se  x< 
5

2
    e x≠1 

     f(x)=0 se x = 
5

2
     

8. 

a)                                                                 b) 
        

 

 

 

 

 

 

 

 

 

 

c)         d) 

 

 

 

 

 

 

 

 

 



 

9.   a)  y=
5

4
(x+1)2 -5         b) y = 5(x-1)2 -5     c) y= -3(x-1)2 +12 

 

 

10. 

a) Quociente = 5x2  - 5𝑥

2
  + 

85

2
      ,    Resto = 

−381𝑥2

2
+

1415𝑥

2
+ 255 

b) Quociente = 𝑥3 + 4𝑥2 − 24𝑥 + 24  , Resto = -20 

c) Quociente = 𝑥4 + 8𝑥3 + 23𝑥2 + 69𝑥 + 199 , Resto= 597 

d) Quociente= 𝑥5 +
224𝑥4

100
+ 8𝑥3 +

1789𝑥2

100
+ 41𝑥 +

9168

100
    , Resto = 205 

 

11.  

a) 3x(x+1)(x-2)(x+7) 

b) 10x2(x+3)(x -  
1

2
 )(x+ 

1

5
 ) 

c) 3(x-2)(x+3)(x+ 
1

3
)(x2+1) 

d) 4(x+ 
1

2
 )(x- 

1

2
 )(x2+1) 

e) 9(x-3)(x-1)2(x  - 
1

3
 )2 

 

12.  

a) - √5 < 𝑥 <  √5 

b)   -2  <  x  < 2 

c)   x<2 ou x>3 

d)   -5<x<2 ou x>4 

e)   x  ≠  1 

f)   x< -1 ou  -  
1

3
  < x < 2 

g) Todo X  real. .  

 

 

 

 



 

13. 

a) f(x)>0  com x>2        b) g(x)>0 com  0<x<2  ou x>3 

    f(x)<0  com x<2            g(x)<0 com x<0  ou  2<x<3 

    f(x)=0  com x=2          g(x)=0 com x=2 e x=3 

 

c) h(x)>0 com   -1<x<0  ou   0<x<1  ou x>3  

    h(x)<0 com   x<-1 ou   1<x<3 

    h(x)=0 com x=1 e x=3 

    h(x) não está definida em x=0 e x= -1. 

 

14. 

a) x+1  + 
1−3𝑥−2𝑥2

𝑥3+3
 

 

b) 3x3 +7x2 +9x +11 + 
5𝑥−11

𝑥2−2𝑥+1
 

c) x3 -9x + 
38𝑥2

𝑥3+4𝑥
 

 

15.  

a) t=0 , t=2 e t=3 

 

b) p(t)>0 para t em (0,2)∪(3, ∞ ) 

    p(t) <0 para t em (2,3) 

c) 𝑣{2,𝑡} =
𝑡(𝑡−3)

𝑡2+1
  para    t  ≥  0   e        t   ≠  2 

 

d)  𝑣{2,𝑡} ≤ 0  em [0,2)∪(2,3) 

 

e) 𝑣{2,𝑡} 𝑠𝑒 𝑎𝑝𝑟𝑜𝑥𝑖𝑚𝑎 𝑑𝑒    −  
2

5
 

 

16)   x=25m e y=25m 

 

 

 


